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i) MeOH, C6H6

ii) 2 eq. NEt3
C6H6

i) > 2 eq. NaOCl(aq), AcOH

ii) PhSAc, C6H6, rflx
H2N 2

Hints:
- Boc survives step 4)
- D is tricyclic
- step 8) is performed exclusively
with G
- I is tricyclic again

7) TsOH

acetone/H2O
+

7') h (390 nm, 40W), MeCN

8) DMP, NaHCO3
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12a) L-Selectride
then
2N HCl

11a) LDA TESCl
-78°C

11b) L-Selectride

12b) LDA,
TMSCl

then LDA, 2

13b) DMP
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h (306 nm), MeCN

R = H

h (306 nm), MeCN

R = Ac

contains diazatricyclo[...]octane core
C18H17N3O6

59% yield

contains diazabicyclo[...]heptane core
C15H15N3O4

72% yield

Please provide mechanisms for the two transformations shown below.
Also, provide a rationale for the different outcomes.
Hint: the triazolidine-3,5-dione moiety does not partake in the photoreactions.
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